SROTE 10 A1 H

T )T T YRR EE A
NS BN 2O 0 PE SR B ]

HEFRF B DBEIZ DN T

OF 7 /) 77 VEIEALE FIAEHEHT IH xR

X B 7 BATEHe | EREE

T ) R— | EERFH 1 H#F'Eﬁho% 6, 780 6,910

2450 1 FIH 1 RFfEZ D 3, 390 3, 460

ol AR 1 RFfEZ D 1, 680 1,720

& IR 24y 1 F]H 1 H#F'Eﬁho% 840 860

= | O AWHES 1 Bz 2,710 2, 760

SSIESE= = 1 FEfIzo 1, 890 1,930

= SRR 1 RFREZ D 1,670 1,700

| e EE | 290 1FH 1 FEfIzo 840 860

= 450 15 H 1 RFREZ > 420 430

N 1 BFREIZ D 740 760
OF 7 277 VR R BT IH SRR

X 9 B 7 BATEe | SEREE

R 1 IFfIC D & 1, 450 1, 480

Rk 24D 1 ) 1Rl > & 730 750

SRR = 1 P D & 550 560




